Mixed Operation Money Word Problems 1
Math Worksheet 4 Name:

Gerald has $90.85 and Roger has $35.55.
How much money do they have together?

Todd gives $4.65 to Steve. If Todd started
with $25.00, how much money does he have
left?

Sara spends $450.00 on eggs. Each egg
costs $9.00. How many eggs did Sara buy?

Brenda gives $2.95 to Peter. If Brenda
started with $94.00, how much money does
she have left?

Sandra starts with $50.00 and spends
$35.65 on stickers. How much money does
Sandra have left?
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Name:

$90.85 + $35.55 = $126.40

$25.00 - $4.65 = $20.35

$450.00 / $9.00 = 50 eggs

$94.00 - $2.95 = $91.05

$50.00 - $35.65 = $14.35




